M:thin English Brain Teasers level 4 #7

Which number completes the puzzle ?

18 21 24 28 42 35

29 32 20 24 25 18
puzzle3 puzzle d
What is the missing number in Which letter is the odd one
the following sequence ? out?
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M:thin English Brain Teasers level 4 #7

Answer to brain teasers

puzzlel: B
Each symbol rotate 5 steps around the center. Shapes alternate being shaded

and non shaded. Letters change in numbers in each next diamond.

puzzle 2 : 25
Divide each pair of opposite numbers by 2 and subtract 5.

puzzle 3 : 7
Take the average of opposite numbers and add 1 to get the

middle number.

puzzled4: A
A is the only letter with and odd letter number value.
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